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1. Which one of the following depicts

a bond of ‘Unity in Indian

Diversity’ ?

(A) Shopping Malls and IT hubs

(B) The Constitution of India and

Cultural Heritage Sites

(C) Charter of Demand of Indian

Farmers

(D) Civil Society movements

against corruption

1. ^Hkkjrh; fofo/krsr ,drk* ;k ‹k`a[kysps n'kZu

[kkyhyiSdh d'kkrwu gksrs \

(A) 'kkWfiax ekWYl vkf.k vk;-Vh- gCt

(B) Hkkjrkph jkT;?kVuk vkf.k lkaLœfrd

okjlk LFk š

(C) Hkkjrh;  'ksrdÚ;kaP;k  ekx.;kaph

lun

(D) Hk z"Vkpkj fojk s/kh ukxjh lektkph

pˇoˇ

Sociology
Paper III

lekt'kkL=
iz'uif=dk III

Time Allowed : 2½ Hours] [Maximum Marks : 150

Note : This Paper contains 75 multiple choice questions. Each question carrying

Two (2) marks. Attempt All questions.

lwpuk % ;k iz'uif=dsr ,dw.k 75 cgqi;kZ;h iz'u fnysys vkgsr- izR;sd iz'ukyk nksu (2) xq.k vkgsr-
loZ iz'u lksMok-
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2. Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R).

Assertion (A) : Emergence of

capitalism in agriculture has

benefited the rich peasants.

Reason (R) : The rich peasants

dominate the society and economy

in the countryside.

In the context of the above

statements, which of the following

is correct ?

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation of

(A)

(B) Both (A) and (R) are true, but

(R) is not the correct

explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

2. [kkyh ,d fo/kku (A) vkf.k ,d dkj.k (R)

fnysys vkgs %

fo/kku (A) : œ"kh O;olk;krhy

HkkaMoyoknkpk mn; Jhear 'ksrdjh oxkZl

fgrdkjd Bjyk-

dkj.k (R) : Jhear œ"kd gs xzkeh.k Hkkxkr

lkekftd o vkfFkZd lŸks e/;s izHkko'kkyh Bjys

vkgsr-

;k lanHkkZr [kkyhy ladsrke/;s fnysY;kiSdh

dks.krk i;kZ; cjkscj vkgs rs lkaxk-

ladsr %

(A) (A) vkf.k (R) nksUgh cjkscj vkgsr vkf.k

(R) gs (A) ps vpwd Li"Vhdj.k vkgs

(B) (A) vkf.k (R) nksUgh cjkscj vkgsr ijarq

(R) gs (A) ps vpwd Li"Vhdj.k

ukgh

(C) (A) gs cjkscj vkgs ijarq (R) gs pwd vkgs

(D) (A) gs pwd vkgs ijarq (R) gs cjkscj vkgs
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3. ‘National Technology Mission of

India’ propagates :

(A) Quality training for Space

Scientists

(B) Special facility for the nano-

technologists

(C) Expansion of ICTs and

vocational training among the

rural youths

(D) Second phase of industrial

revolution

4. Who among the following has offered

six-fold classification of traditions

for evaluating social change in

India ?

(A) Yogendra Singh

(B) M.N. Srinivas

(C) McKim Marriot

(D) S.C. Dube

3. ^uW'kuy VsDukWykWth fe'ku vkWQ bafM;k*

[kkyhyiSdh dks.kR;k ckchpk izlkj djrs \

(A) varjkˇ oSKkfudkalkBh xq.koŸkkiw.k Z

izf'k{k.k

(B) uWuks ra=KkuklkBh [kkl lqfo/kk

(C) xzkeh.k r#.kkae/;s vk;-lh-Vh-pk foLrkj

vkf.k O;kolkf;d izf'k{k.k

(D) vkS|ksfxd ÿkarhpk nqljk VIik

4. [kkyhyiSdh dks.kh Hkkjrkrhy lkekftd

ifjorZukps ewY;kadu djrkuk ijaijsps lgkinjh

oxhZdj.k dsys vkgs \

(A) ;ksxsUÊ flax

(B) ,e~-,u~- Jhfuokl

(C) eWfde~ eWfjvV

(D) ,l~-lh- nqcs
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5. The phenomenological approach to

study society emphasises on :

(A) Economic determinism

(B) Cultural determinism

(C) Causal explanation of the

phenomena

(D) Indepth understanding of the

phenomena

6. A major effort to review structural-

functionalism theory under the

heading neo-functionalism consists

of :

(I) To indicate continuity with

structural-functionalism

(II) To extend structural-functiona-

lism

(III)To overcome its difficulties

(IV) To modify according to need

Select the correct answer from the

codes given below :

Codes :

(A) (IV)  only

(B) (I), (III) and (IV)

(C) (II), (III) and (IV)

(D) (I), (II) and (III)

5. lektkP;k  vH;klkrhy  ?kVuk'kkL=h;

n`"Vhdksukr dks.kR;k ckchl egRo fnys

vkgs \

(A) vkfFkZd fu.kZ;okn

(B) lkaLœfrd fu.kZ;okn

(C) ?kVusP;k dkj.kfeekalsps Li"Vhdj.k

(D) ?kVuspk l[kksy vFkZcks/k

6. uo&izdk;Zokn ;k f'k"kZdk[kkyh lajpukRed&

izdk;Zokn flºkarkpk vk<kok ?ks.;kP;k izeq[k

iz;Rukr dks.kR;k ckchpk lekos'k gksrks \

(I) lajpukRed&izdk;Zoknklh lkrR; n'kZfors

(II) lajpukRed&izdk;Zokn foLrkjhr dj.ks

(III) R;kaP;k vMp.khrwu ckgsj ;s.;klkBh

(IV) vko';drs izek.ks lq/kkj.kk dj.ks

[kkyh fnysY;k ladsrkrwu ;ksX; mŸkj fuoMk %

ladsr %

(A) (IV) QDr

(B) (I), (III) vkf.k (IV)

(C) (II), (III) vkf.k (IV)

(D) (I), (II) vkf.k (III)
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7. Who has stated ‘Gender’ as an

analytical category ?

(A) Helene Cixous

(B) Ann Oakley

(C) Germaine Greer

(D) Michell Barrett

8. Patriarchy involves men’s control

over :

(A) Women’s labour, sexuality and

mobility

(B) Entertainment patterns

(C) Voting and elections

(D) Women’s genetic abilities

9. Who among the following

propounded the concept of

‘globalization from below’ ?

(A) Kellner

(B) Stiglitz

(C) Giddens

(D) Appadurai

7. ^fyaxHkko* gh ,d lSºkafrd dksVh vkgs] vls

dks.kh ekaMys \

(A) gsyu D;wDl

(B) vWu vksdys

(C) tesZu xzhvj

(D) fe'ksy cWjsV

8. fir`lRrkd O;oLFksr iq#"kkaps ------------- oj

fu;a=.k varHkwZr vlrs-

(A) fL=;kaps Je] ySafxdrk o xrh'khyrk

(B) euksjatukps vuqca/k

(C) ernku o fuoM.kqdk

(D) fL=;kaP;k tuqdh; {kerk

9. [kkyhyiSdh dks.kh ^rˇkdMwu tkxfrdhdj.k*

gh ladYiuk ekaMyh \

(A) dsyuj

(B) fLVxfyV~>

(C) fxMUl

(D) vIiknqjkbZ
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10. According to Malthus, war is a

............. for the population.

(A) Positive checks

(B) Preventive checks

(C) National calamity

(D) Destructive exercise

11. Match List I with List II and select

the correct answer from the codes

given below :

List I List II

(Books) (Authors)

(a) Indian Village (i) M.N. Srinivas

(b) Village Communities in (ii) Andre Beteille

the East and West

(c) Village India (iii) S.C. Dube

(d) India’s Village (iv) McKim Marriot

(v) Henry Maine

Codes :

(a) (b) (c) (d)

(A) (v) (iii) (ii) (iv)

(B) (iii) (v) (iv) (i)

(C) (i) (ii) (iii) (v)

(D) (iii) (v) (iv) (ii)

10. ekYFklP;k ers] ;qº gk yksdla[;slkBh dks.kR;k

Lo:ikpk vojks/k vkgs \

(A) izR;{k vojks/k

(B) izfrca/kd vojks/k

(C) jk"V™h; ladV

(D) fo/oald œrh

11. [kkyhy ;knh I o ;knh II e/khy uksanhaP;k

tksMÓk ykok vkf.k fnysY;k ladsrkrwu ;ksX;

mŸkj fuoMk %

;knh I ;knh II

(iqLrdsa) (ys[kd)

(a) bafM;u fOgyst (i) ,e-,u- Jhfuokl

(b) fOgyst dE;qfuVht (ii) vkUÊs csRrh

bu n bLV v°M osLV

(c) fOgyst bafM;k (iii) ,l-lh- nqcs

(d) bafM;kt~ fOgyst (iv) eWfde eWfjvV

(v) gsUjh esu

ladsr %

(a) (b) (c) (d)

(A) (v) (iii) (ii) (iv)

(B) (iii) (v) (iv) (i)

(C) (i) (ii) (iii) (v)

(D) (iii) (v) (iv) (ii)
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12. Who of the following is not associated

with the debate over ‘mode of

production’ in Indian agriculture ?

(A) Ashok Rudra

(B) Utsa Patnaik

(C) Jairus Banaji

(D) Milton Singer

13. Tebhaga movement took place in

which of the following Indian

states ?

(A) West Bengal

(B) Kerala

(C) Andhra Pradesh

(D) Punjab

14. Who has given the ‘cyclical theory

of population growth’ ?

(A) Spencer

(B) Ginni

(C) Dumont

(D) Doubleday

15. Name the major sociologist in India

consistently using dialectical

historical method in sociological

studies ?

(A) R.K. Mukherjee

(B) D.P. Mukherjee

(C) M.N. Srinivas

(D) A.R. Desai

12. Hkkjrh; œf"kfo"k;d mRiknu i z.kkyh
laca/khP;k ifjpps Zr [kkyhyiSdh dks.k
lacaf/kr ukgh \

(A) v'kksd #Ê

(B) mRlk iVukbZd

(C) t;jl ckukth

(D) feYVu flaxj

13. Hkkjrkrhy [kkyhyiSdh dks.kR;k jkT;ke/;s

frHkkxk pˇoˇ >kyh \

(A) if'pe caxky

(B) dsjˇ

(C) vkU/kz izns'k

(D) iatkc

14. yksdla[;k ok<hpk pÿkdkj flºkUr dks.kh
ekaMyk \

(A) LisUlj

(B) fxuh

(C) MÓwek°

(D) McyMs

15. Hkkjrkrhy dks.k izeq[k lekt'kkL=K vkgs dh
T;kauh lekt'kkL=h; vH;klkr }a}kRed
,sfrgkfld  iºrhpk  lkrR;kus  okij
dsyk \

(A) vkj-ds- eq[kthZ

(B) Mh-ih- eq[kthZ

(C) ,e-,u- Jhfuokl

(D) ,-vkj- nslkbZ
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16. Match List I with List II  and select

the correct answer from the codes

given below :

List I List II

(Books) (Authors)

(a) The Coming of the Devi (i) David Hardiman

(b) India’s Changing Villages (ii) Ghurye

(c) Homo Hierarchicus (iii) S.C. Dube

(d) I and other Explorations (iv) Dumont

Codes :

(a) (b) (c) (d)

(A) (i) (iv) (iii) (ii)

(B) (i) (iii) (iv) (ii)

(C) (i) (iv) (ii) (iii)

(D) (iv) (iii) (i) (ii)

16. ;knh I o ;knh II P;k tksMÓk ykok vkf.k

[kkyhy  fnysY;k  ladsrkrwu  ;ksX;  mŸkj

fuoMk %

;knh I ;knh II

(xzaFk) (ys[kd)

(a) fn dehax vkWQ fn nsoh (i) MsOghM gkMhZeu

(b) bafM;kt psathax Oghystsl (ii) ?kq;sZ

(c) gkseks gk;jkfdZdl~ (iii) ,l-lh- nqcs

(d) vk; v°M vkWnj (iv) MÓwek°

,DlIyksjs'kUl

ladsr %

(a) (b) (c) (d)

(A) (i) (iv) (iii) (ii)

(B) (i) (iii) (iv) (ii)

(C) (i) (iv) (ii) (iii)

(D) (iv) (iii) (i) (ii)
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17. Given below are two statements, one

is laballed as Assertion (A) and the

other is labelled as Reason (R).

Assertion (A) : Growing regional

disparity in economic development

is a major challenge to political

unity.

Reason (R) : The impact of

globalization has contributed

significantly for the growth

of regional disparity in

development.

In the context of the above

statement, which one of the

following is correct ?

Codes :

(A) Both (A) and (R) are true, but

(R) is not the correct

explanation of (A)

(B) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

17. [kkyh ,d fo/kku (A) vkf.k nqlÚ;kl dkj.k

(R) vls lacks/kys vkgs %

fo/kku (A) % vkfFkZd fodklke/;s ok<rh

izknsf'kd fo"kerk gs jktfd; ,sD;kiq<hy

vkOgku vkgs-

dkj.k (R) % vkfFkZd fodklke/khy ok<rh

izknsf'kd fo"kerk gs oSf'odj.kkus fnysys

egRoiw.kZ ;ksxnku vkgs-

mijksDr fo/kkukP;k lanHkkZr [kkyhyiSdh dks.krs

cjkscj vkgs rs lkaxk-

ladsr %

(A) (A) vkf.k (R) nksUgh cjkscj vkgsr] ijarq

(R) gs (A) ps vpwd Li"Vhdj.k ukgh

(B) (A) vkf.k (R) cjkscj vkgsr vkf.k (R)

gs (A) ps vpwd Li"Vhdj.k vkgs

(C) (A) gs cjkscj vkgs] ijarq (R) gs pwd

vkgs

(D) (A) gs pwd vkgs] ijarq (R) gs cjkscj

vkgs
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18. fopyu gh ,d lkis{k ladYiuk vkgs]

dkj.k -----------

(A) xqUgk vkf.k vijk/k gs lokZr Li"V izdkj

vkgsr

(B) rh dkˇkuqlkj vkf.k LFkˇkuqlkj cnyr

vlrs

(C) vkt ts fopyu letys tkrs rs Hkfo";kr

lkekU; orZu B: 'kdrs

(D) rh cgq/kk v'kk œrhapkk funsZ'k djrs dh

T;k lektkP;k lnL;kauk loZlkekU;i.ks

vekU; vlrkr

19. vœ"kdhdj.k gh ladYiuk [kkyhyiSdh

dks.kk'kh lacaf/kr vkgs \

(A) ,- pk;kukWOg

(B) ds- ekDlZ

(C) Ogh- ysfuu

(D) ,e~- oscj

18. Deviance is a relative concept,

because ..................

(A) Crime and delinquency are the

most obvious forms

(B) It varies from time to time and

place to place

(C) Deviant today may be defined

as normal in the future

(D) It usually refers to those

activities that bring general

disapproval from members of

society

19. The concept of depeasantisation is

associated with ..............

(A) A. Chayanov

(B) K. Marx

(C) V. Lenin

(D) M. Weber
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20. ‘Fertility varies inversely with the

density of population.’ Whose view

is this ?

(A) Malthus

(B) Durkheim

(C) Saddler

(D) Castro

21. The National Population Policy in

India encourages :

(A) Joint family

(B) Nuclear family

(C) Urban to rural migration

(D) Rural to urban migration

22. Who argued that delinquency is a

collective rather than an individual

response ?

(A) Robert Merton

(B) Cloward and Ohlin

(C) Albert Cohen

(D) Walter Miller

20. ^iztuu gs yksdla[;sP;k ?kursP;k fo#º fn'ksus

cnyr vlrs-* vls dks.kh EgVys vkgs \

(A) ekYFkl

(B) nj[kkbZe

(C) lWMyj

(D) dWLV™ks

21. Hkkjrkrhy jk"V™h; yksdla[;k /kksj.k d'kkyk
mŸkstu nsrs \

(A) la;qDr dqVqac

(B) foHkDr dqVqac

(C) 'kgjkdMwu xzkeh.k HkkxkadMs gks.kkjs
LFkykarj

(D) xzkeh.k  HkkxkdMwu  'kgjkadMs  gks.kkjs
LFkykarj

22. xqUgsxkjh gk O;fDrxr iz'u ulwu lkewfgd vkgs]

vlk nkok dks.kh dsyk vkgs \

(A) jkWcVZ eVZu

(B) DyWoMZ vkf.k vksfyu

(C) vYcVZ dksgsu

(D) okWYVj feyj
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23. Who is the author of ‘The

Future of the Underdeveloped

Countries’ ?

(A) Hobhouse

(B) Eugene Stanley

(C) Karl Marx

(D) Bottomore

24. Alienation is a feature of a :

(A) Capitalist society

(B) Socialist society

(C) Feudal society

(D) Communist society

25. Which one of the following is a

feature of ‘division of labour’ ?

(A) Democratization of activity with

worker’s participation

(B) Routinization of authority in

production process

(C) Centralized control over

production by industrialists

(D) Specialization of activity with

appropriate co-ordination

23. ^n ∂;wpj vkWQ n vaMjMsOgyIM daV™ht* ;k

iqLrdkps ys[kd dks.k \

(A) gkWcgk≈l

(B) ;qthu LVWu~ys

(C) dkyZ ekDlZ

(D) ckWVeksj

24. ijkRerk gs ------------------- ps ,d oSf'k"VÓ

vkgs-

(A) HkkaMoy'kkgh lekt

(B) lektoknh lekt

(C) ljatkenkjh lekt

(D) lkE;oknh lekt

25. [kkyhyiSdh dks.krs ^JefoHkktukps oSf'k"VÓ*

vkgs \

(A) dk;k ±p s ] dkexkjk aP;k lgHkkxku s

yksd'kkghdj.k

(B) mRiknu izfÿ;srhy vf/kdkjkps :<hdj.k

(C) m|kstdk}kjs mRiknukojhy dsaÊhHkwr

fu;a=.k

(D) ;ksX; lg;ksxk}kjs dk;k±ps fo'ks"khdj.k
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26. ^^mPp lkekftd ntkZ vkf.k vknj vl.kkÚ;k

yksdkauh R;kaP;k O;kolkf;d dkjfdnhZr dsysys

xqUgs Eg.kts ika<jis'kh xqUgs gksr-** v'kh O;k[;k

dks.kh dsyh vkgs \

(A) gkWoMZ csdj

(B) ,Mfou ysekVZ

(C) jkWcVZ eVZu

(D) ,Mfou lnjy°M

27. bafM;k vxsULV djI'ku ------------------- oj y{k&

dsafÊr djhr vkgs-

(A) ika<jis'ks xqUgsxkjh

(B) fgald xqUgs

(C) xqUgsxkjh ekufldrk

(D) vUu Hkslˇ

28. tho txre/;s ^vkEgh* vkf.k ^rs* laca/kkr dks.kh

Qjd n'kZfoysyk vkgs \

(A) gScjekl

(B) vysD>kaMj

(C) dwys

(D) 'kqV~>

26. Who defines ‘‘white-collar crime as

Crimes committed by persons

of high social status and

respectability in the course of their

occupations’’ ?

(A) Howard Becker

(B) Edwin Lemart

(C) Robert Merton

(D) Edwin Sutherland

27. ‘India Against Corruption’ is

focusing on :

(A) White-collar Crime

(B) Violent Crime

(C) Criminal Mentality

(D) Food Adulteration

28. Within the life world who

differentiated between ‘we’ and ‘they’

relations :

(A) Habermas

(B) Alexander

(C) Cooley

(D) Schutz
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29. What proportion of India’s

GDP comes from Industrial

Sector ?

(A) 13%

(B) 23%

(C) 53%

(D) 73%

30. What is the central concept within

structural approach ?

(A) Social structure

(B) Sub-groups

(C) Role occupant

(D) Interaction

31. Who stated that ‘Phallocentric’

language reproduces male world

view ?

(A) Helene Cixous

(B) Ann Oakley

(C) Bell Hooks

(D) Germaine Greer

29. HkkjrkP;k  LFkwy  ?kjxqrh  mRiknukpk

(GDP) fdrh fgLlk vkS|ksfxd {ks=krwu

;srks \

(A) 13%

(B) 23%

(C) 53%

(D) 73%

30. lajpukRed n`"Vhdksukr dks.krh ladYiuk

dsafÊ; vkgs \

(A) lkekftd lajpuk

(B) mi&leqg

(C) Hkqfedk /kkjd

(D) vkarjfÿ;k

31. ‘Phallocentric’ Hkk"kk iq#"kh thoun`"Vhps

iqu#Riknu  djrs]  vls  izfriknu  dks.kh

dsys \

(A) gsyu D;wDl

(B) vWu vksdys

(C) csy gqDl

(D) tesZu xzhvj
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32. Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) : Many core

sociological issues afflicting society

were neglected in Indian sociology

as they do not fit in the western

sociological paradigm.

Reason (R) : The strong influence

of western sociological theories,

concepts and methods was the main

challenge for indigenization of

sociology in India.

In the context of the above

statement, which one of the

following is correct ?

Codes :

(A) Both (A) and (R) are true, but

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

32. [kkyh nksu fo/kkus fnysyh vkgsr ,dkl

fo/kku (A) vkf.k nqlÚ;k fo/kkukl dkj.k (R)

vls lacks/kys tkrss %

fo/kku (A) % lektkoj ifj.kke dj.kkÚ;k

vusd izeq[k lekt'kkL=h; izo`Ÿkh Hkkjrh;

lekt'kkL=kr nqyZf{kr dj.;kr vkY;k] dkj.k

ik'pkR; lekt'kkL=h; n`"Vhdksukr R;k

;ksX;i.ks clq 'kdr ukghr-

dkj.k (R) % ik'pkR; lekt'kkL=h; flºkar]

ladYiuk vkf.k iºrh ;kapk izHkkoh ifj.kke

Eg.kts ,d izdkjs Hkkjrkrhy lekt'kkL=kP;k

,rÌs'kh;hdj.kkrhy izeq[k vkOgku gksrs-

mijksDr fo/kkuklanHkkZr [kkyhyiSdh dks.krs

cjkscj vkgs rs lkaxk-

ladsr %

(A) (A) vkf.k (R) nksUgh cjkscj vkgsr] ijarq

(R) gs (A) vpwd Li"Vhdj.k ukgh

(B) (A) vkf.k (R) gs cjkscj vkgsr vkf.k

(R) gs (A) ps vpwd Li"Vhdj.k vkgs

(C) (A) gs cjkscj vkgs] ijarq (R) gs pwd

vkgs

(D) (A) gs pwd vkgs] ijarq (R) gs cjkscj

vkgs
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33. Whom does Ghurye consider

‘Backward Hindus’ ?

(A) Scheduled castes

(B) Tribes

(C) Backward classes

(D) Mahadeo Koli

34. In the wake of globalization trade

unions have shown :

(A) an increasing trend

(B) a declining trend

(C) a trend of globalization of local

issues

(D) a trend of co-option by political

parties

35. In the wake of globalization

emphasis has been on the expansion

of education through extensive use

of :

(A) Information and

communication technologies

(B) Available infrastructure

(C) Non-profit civil society

initiative

(D) Indigenous resources

33. ?kq;s Z dks.kR;k lewgkyk ^ekxklysys fganw*

letrkr \

(A) vuqlqphr tkrh

(B) tekrh

(C) ekxklysys oxZ

(D) egknso dkš h

34. tkxfrdhdj.kkP;k lanHkkZr dkexkj la?kVuk
--------------------------- nk[korkr-

(A) ok<rk dy

(B) ?kVrk dy

(C) LFkkfud iz'ukaP;k tkxfrdhdj.kkpk

dy

(D) jktdh; i{kkadMwu lEehyhdj.kkpk

dy

35. tkxfrdhdj.kkP;k izfÿ;sr f'k{k.kkP;k

foLrkjhdj.kk cjkscjp dks.kR;k xks"VhaP;k iqjsiwj

okij dj.;kr vkyh vkgs \

(A) ekfgrh o laizs"k.k ra=Kku

(B) miyC/k ik;kHkwr lqfo/kk

(C) uQkfojfgr vls ukxjh lektkps iz;Ru

(D) Lons'kh lalk/kus
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36. Centre-Periphery model belongs

to which of the following

traditions ?

(A) Modernization paradigm

(B) Dependency paradigm

(C) World system paradigm

(D) Gandhian paradigm

37. Dependency ratio is the ratio of

people :

(A) of non-working ages to those of

working ages

(B) Who are physically dependent

(C) Who are a burden on the

society

(D) Who are under the age of 18

years

38. Who are said to be the original

inhabitants of India ?

(A) Buddhists

(B) Hindus

(C) Tribals

(D) Jains

36. [kkyhyiSdh dks.kR;k ijaijs'kh dsUÊ&ijh?k

izfreku lacaf/kr vkgs \

(A) vk/kqfudhdj.k ifjn`"Vh

(B) ijkoyacu ifjn`"Vh

(C) tkxfrd&O;oLFkk ifjn`"Vh

(D) xka/khoknh ifjn`"Vh

37. voyafcrkaps izek.k Eg.kts %

(A) v&Jfed yksdkaps Jfed yksdka'kh

vlysys izek.k

(B) 'kkjhfjdn`"VÓk voyafcrkaps izek.k

(C) lektkoj Hkkj vl.kkÚ;kaps izek.k

(D) 18 o"ksZ o;k[kkyhy yksdkaps izek.k

38. Hkkjrkrhy eqˇ jfgoklh dks.kkyk EgVys

tkrs \

(A) ckSº

(B) fgUnw

(C) vkfnoklh

(D) tSu
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39. According to Peter Berger and

Luckmann social construction

processes include :

(I) Externalization

(II) Objectification

(III) Internalization

(IV) Subjectivity

Select the correct answer according

to the Codes given below :

Codes :

(A) (I), (II) and (III)

(B) (III), (II) and (I)

(C) (I), (IV) and (III)

(D) (II), (III) and (IV)

40. In which of the following place the

acute problem of child malnutrition

has taken place ?

(A) Nandurbar

(B) Thane

(C) Melghat

(D) Jalgaon

39. fiVj ctZj vkf.k yqdeu ;kaP;k erkizek.ks

lkekftd jpusr dks.k&dks.kR;k ckchpk

lekos'k gksrks \

(I) cfgfLFkdj.k

(II) oLrqfu"Brkdj.k

(III)vkarjhdj.k

(IV) O;fDrfu"Brk

[kkyh fnysY;k ladsrkrwu mfpr mŸkj fuoMk %

ladsr %

(A) (I), (II) vkf.k (III)

(B) (III), (II) vkf.k (I)

(C) (I), (IV) vkf.k (III)

(D) (II), (III) vkf.k (IV)

40. [kkyhyiSdh dks.kR;k fBdk.kh ckydqiks"k.kkph

xaHkhj leL;k mn~Hkoyh \

(A) uanqjckj

(B) Bk.ks

(C) esˇ?kkV

(D) tˇxko
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41. Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) : Slums in India

depict high incidence of crime and

delinquency.

Reason (R) : High incidences of

poverty, illiteracy, lack of social

control and livelihood insecurity

push the slum dwellers take recourse

to crime and delinquency.

Choose the correct answer from the

codes given below :

Codes :

(A) Both (A) and (R) are correct

and (R) is the correct

explanation of A

(B) Both (A) and (R) are correct but

(R) is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

41. [kkyh ,d fo/kku (A) o ,d dkj.k (R)

fnys vkgs- R;krhy laca/kkfo"k;hpk ladsr

fuoMk %

fo/kku (A) % Hkkjrkrhy xfyPN oLR;k xqUgs

o xqUgsxkjh izo`Ÿkhps eksBÓk izek.kkr n'kZu

?kMforkr-

dkj.k (R) % nkfjÊÓ] fuj{kjrk] lkekftd

fu;a=.kkpk vHkko o mithfodsph vlqjf{krrk

;keqˇs xfyPN oLrhrhy jfgoklh xqUgs o

xqUgsxkjhpk vk/kkj ?ksrkr-

[kkyh fnysY;k ladsrkrwu mfpr mŸkj fuoMk %

ladsr %

(A) (A) o (R) nksUgh cjkscj vkgsr o  (R)

gs (A) ps Li"Vhdj.k vkgs

(B) (A) o (R) nksUgh cjkscj vkgsr] ijarq (R)

gs (A) ps cjkscj Li"Vhdj.k ukgh

(C) (A) cjkscj vkgs ijarq (R) pqdhps

vkgs

(D) (A) pqdhps vkgs ijarq (R) gs cjkscj

vkgs
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42. ifjlj O;oLFksps tru dj.;klkBh fulxZ T;k
eksykP;k vkf.k O;ogkjksi;ksxh lsok iqjorks R;kyk
dk; EgVys tkrs \

(A) tSfod fu;a=.k

(B) tSo{ks=h; larqyurk

(C) gfjrx`gkaps izHkko

(D) ifjlj O;oLFkk lsok

43. lkekftd okLrokph fdrh osxosxˇh v'kh {ks=s

'kqV~>us lkafxryh vkgsr \

(A) nksu

(B) rhu

(C) pkj

(D) lgk

44. fodklkph izfÿ;k lq# dj.;klkBh ^[ksMÓkdMs

pˇk* vls [kkyhyiSdh dks.kh lqpfoys \

(A) ,-ih-ts- vCnqy dyke

(B) egkRek xka/kh

(C) iafMr usg:

(D) ckcklkgsc vkacsMdj

45. okaf'kdrk gh %

(A) lkaLœfrd jfpr vkgs

(B) vkfFkZd jfpr vkgs

(C) izknsf'kd jfpr vkgs

(D) dk;ns'khj jfpr vkgs

42. Valuable, practical services that help

to preserve ecosystems performed by

nature are called :

(A) Biological control

(B) Biosphere balancing

(C) The greenhouse effect

(D) Ecosystem services

43. How many distinct realms of social

reality have been identified by

Schutz ?

(A) Two

(B) Three

(C) Four

(D) Six

44. Who among the following has

suggested ‘March towards the

villages’ for the initiation of

development process ?

(A) A.P.J. Abdul Kalam

(B) Mahatma Gandhi

(C) Pandit Nehru

(D) Babasaheb Ambedkar

45. Ethnicity is a :

(A) Cultural construct

(B) Economic construct

(C) Regional construct

(D) Legal construct

http://www.studentbounty.com/
http://studentbounty.com/


21 [P.T.O.

FEB - 14313/III

46. Which feminist perspective

states that violence is the main

strategy to ensure domination of

women ?

(A) Liberal Feminism

(B) Socialist Feminism

(C) Marxist Feminism

(D) Radical Feminism

47. Population explosion means............

(A) Increased rate of births

(B) High birth rates and high death

rates

(C) Drastic shift in the balance

between birth rates and death

rates

(D) Increased rate of death

46. [kkyhyiSdh dks.krk L=hoknh n`"Vhdksu vls

izfriknu djrks] dh fgalkpkj gh fL=;kaojps

izHkqRo  fVdo.;kph  izeq[k  O;wgjpuk

vkgs \

(A) mnkjeroknh L=hokn

(B) lektoknh L=hokn

(C) ekDlZoknh L=hokn

(D) tgkyeroknh L=hokn

47. yksdla[;k foLQksV Eg.kts ------------------

(A) tUenjkr >kysyh ok<

(B) mPp tUenj vkf.k mPp e`R;qnj

(C) tUe  vkf.k e`R;q  ;kaP;k  larqyukr

eksBÓkizek.kkr >kysyk cny

(D) e`R;qnjkr >kysyh ok<
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48. [kkyhyiSdh dks.krk Hkkjrkrhy jk"V™cka/k.khe/khy

vMFǩ k ukgh \

(A) nkfjÊÓ] csdkjh] fuj{kjrk] vukjksX;

(B) tkr] oxZ] fyaxHkko] xzkeh.k&ukxjh o

fMftVy foHkkx.kh

(C) izknsf'kdrkokn] ng'krokn o fgalk

(D) lkekftd ifjorZu] gokeku cny o

ra=KkukRed cny

49. fcykZ&vackuh vgoky mPp f'k{k.kkfo"k;h vls

Eg.krks dh %

(A) mPp f'k{k.kkr jkT;kph vf/kd Hkwfedk

vlkoh

(B) mPp f'k{k.kkrwu jkT;laLFksph ek?kkj o

[kktxh {ks=kpk ok<rk lapkj

(C) fo|kihB ifjljkr fo|kFkhZ o f'k{kd

la?kVukauk iqUgk dk;kZfUor dj.ks

(D) mPp  f'k{k.kkr  lkoZtfud&[kktxh

Hkkxhnkjhyk fu#Rlkgh dj.ks

48. Which one of the following is not a

hindrance for nation building in

India ?

(A) Poverty, unemployment,

illiteracy, illhealth

(B) Caste, class, gender, rural-

urban and digital divides

(C) Regionalism, terrorism and

violence

(D) Social change, climate change

and technological change

49. The Birla-Ambani Report on Higher

Education :

(A) Increasing engagement of the

state with higher education

(B) Withdrawal of state from higher

education and increasing

private sector in higher

education

(C) Reactivation of teachers’ and

students’ association in the

university campuses

(D) Discouraging public-private

partnership in higher education
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50. Post-modernism emphasizes

on :

(A) Difference

(B) Similarity

(C) Emancipation

(D) Welfare State

51. Expansion of slums in India is

linked to :

(A) Increase in rural literacy

rate

(B) Increase in urban infra-

structure

(C) Increase in rural poverty

(D) Decline in urban poverty

52. Regionalism refers to :

(A) An extreme loyalty to a

particular region

(B) A feeling of regional differences

(C) A feeling which strengthens

national unity

(D) A hatered towards own’s region

53. Which one of the following is not a

feature of Gandhian Model of

Development ?

(A) Social Trusteeship

(B) Non-violence

(C) Constructive social work

(D) State ownership of means of

production

50. mŸkj&vk/kqfudrkokn dks.kR;k ckchoj Hkj
nsrks \

(A) fofo/krk

(B) lk/kE;Z

(C) eqDrh

(D) dY;k.kdkjh jkT;

51. Hkkjrkrhy  xfyPN  oLR;kr  gks.kkjh  ok<

[kkyhyiSdh dks.kR;k ckch'kh laca/khr vkgs \

(A) xzkeh.k lk{kjrsr >kysyh ok<

(B) ukxjh Hkkxkr ok<ysY;k lqfo/kk

(C) xzkeh.k nkfjÊÓkr >kysyh ok<

(D) ukxjh nkfjÊÓkr >kysyh ?kV

52. izknsf'kdrkokn ------------------------------ lwfpr

djrks-

(A) fof'k"V Hkwizns'kk'kh vfrjsdh fu"Bk

(B) izknsf'kd Hksnkph Hkkouk

(C) jk"V™h; ,sD; cˇdV dj.kkjh Hkkouk

(D) Lor%P;k izns'kkfo"k;h }s"kHkkouk

53. [kkyhyiSdh dks.krs fodklkP;k xka/khoknh

izk:ikps oSf'k"VÓ ukgh \

(A) lkekftd fo'oLr

(B) vfgalk

(C) jpukRed lkekftd dk;Z

(D) mRiknukP;k lk/kukaoj jkT;kph ekydh
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54. Those who operate organized

crime  :

(i) Belong to the economic and

political elite

(ii) are within the ruling class who

profit from crime

(iii) are white-collar criminals

(iv) are businessmen

Select the proper codes :

Codes :

(A) (i) and (iii) are correct

(B) (ii) and (iv) are correct

(C) (ii) and (iii) are correct

(D) (i) and (ii) are correct

55. Gender Budget is an exercise to

ensure :

(A) Equality in allocation of funds

(B) Justice to women

(C) Women are not oppressed

(D) Men are exploited

56. In the context of India, modernity

implies ................

(A) Replacement of tradition by

modernity

(B) Reinforcement of traditionality

(C) Redefining tradition in

new context independent of

modernity

(D) Co-existence of traditional and

modern values, arts, culture and

institutions

54. la?kfVr xqUgs dj.kkjs cjspnk -------------- vlrkr-

(i) vkfFkZd vkf.k jktdh; f'k"Vtu

(ii) T;kauk xqUgkaeq š ykHk gksrks v'kk 'kkflr

oxkZrhy

(iii) ika<jis'kh xqUgsxkj

(iv) m|ksxirh

;ksX; ladsr fuoMk %

ladsr %

(A) (i) vkf.k (iii) cjkscj

(B) (ii) vkf.k (iv) cjkscj

(C) (ii) vkf.k (iii) cjkscj

(D) (i) vkf.k (ii) cjkscj

55. ^fyaxHkkok/kkfjr vFkZladYi* gh œrh --------

lkBh dsyh tkrs-

(A) fu/khokVikrhy lekurk

(B) fL=;kauk U;k;

(C) fL=;kaps neu gks≈ u;s

(D) iq#"kkaps 'kks"k.k Ogkos

56. Hkkjrh; lanHkkZr vk/kqfudrk Eg.kts %

(A) ijaijsP;k tkxh vk/kqfudrsph iquLFkkZiuk

dj.ks

(B) ikjaifjdrsph  iqUgk  vaeyctko.kh

dj.ks

(C) uO;k lanHkkZr vk/kqfudrsis{kk Lora= v'kh

ijaijsph iquO;kZ[;k dj.ks

(D) ikjaifjd o vk/kqfud ewY;s] dyk] laLœrh

o laLFkkaps lgvfLrRo
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57. Phenomenological sociology focuses

on :

(I) The meaning of social situation

(II) Production of social situation

(III) Experiences in everyday life

(IV) Objectivity

Select the correct answer according

to the code given below :

Codes :

(A) (I), (II) and (IV)

(B) (I), (II) and (III)

(C) (II), (III) and (IV)

(D) (II) and (I)

58. Eco-feminism highlights :

(A) Deconstruction of language

(B) Gender-just development that is

sustainable

(C) Women’s property rights

(D) Freedom from exploitation

57. iz?kVuk'kkL=h; lekt'kkL= dks.kR;k ckchoj

y{k dasfÊr djrs \

(I) lkekftd fLFkrhpk vFkZ

(II) lkekftd fLFkrhph fufeZrh

(III)nSuafnu ftoukps vuqHko

(IV) oLrqfu"Brk

[kkyh fnysY;k ladsrkuqlkj ;ksX; mŸkjkph fuoM

djk %

dksM %

(A) (I), (II) vkf.k (IV)

(B) (I), (II) vkf.k (III)

(C) (II), (III) vkf.k (IV)

(D) (II) vkf.k (I)

58. i;kZoj.koknh L=hokn ------------------- oj Hkj

nsrks-

(A) Hkk"ksph fojpuk

(B) fyaxHkko&U;k∏;  fodkl  tks  'kk'or

vlsy

(C) fL=;kaps ekyeRrk gDd

(D) 'kks"k.kkiklwu eqDrh
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59. Who has offered the concept of the

‘Globalization of Nothing’ ?

(A) Ritzer

(B) Kellner

(C) Giddens

(D) Frank

60. The world system theory is a

historical description of the growth

of :

(A) Political system

(B) Social system

(C) Capitalist economic system

(D) Cultural system

61. Who is the author of ‘Modernity at

Large : Cultural Dimensions of

Globalization’ ?

(A) Giddens

(B) Appadurai

(C) Stightz

(D) Bauman

59. [kkyhyiSdh dks.kh ^Xykscyk;>s'ku vkWQ

ufFkax* gh ladYiuk ekaMyh vkgs \

(A) fjV>~j

(B) dsyuj

(C) fxMUl

(D) ›°d

60. fo'o O;oLFkk flºkUr Eg.kts d'kkP;k ok<hps

,sfrgkfld o.kZu vkgs \

(A) jktdh; O;oLFkk

(B) lkekftd O;oLFkk

(C) HkkaMoynkjh O;oLFkk

(D) lkaLœfrd O;oLFkk

61. ^ekWMfuZVh vWV yktZ % dYpjy Mk;esa'kUl vkWQ

Xykscyk;>s'ku* ;k xzaFkkps ys[kd dks.k

vkgs \

(A) fxMUl

(B) vIiknqjkbZ

(C) LVhXTV>

(D) ck≈eu
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62. Domestic Violence Prevention Act

has resulted in :

(1) Complete prevention of

domestic violence

(2) Legal solution of this problem

(3) At least cognizance at legal

level

(4) Raising social awareness about

prevalence of domestic violence

Select the code of correct answer :

(A) (1) and (2) are correct

(B) (2), (3) and (4) are correct

(C) (1), (2) and (3) are correct

(D) (3) and (4) are correct

63. Who coined the term ethno-

methodology ?

(A) Peter Berger and Lukmann

(B) Goffman

(C) Garfinkel

(D) Husserl

62. dkSVqafcd  fgalkpkj  izfrca/k  dk;nÓkps

----------------- ifj.kke fnlrkr-

(1) dkSVqafcd fgalkpkjkpk iw.kZ izfrca/k

(2) ;k leL;soj dk;ns'khj mik;

(3) fdeku dk;|kP;k ikrˇhoj n[ky

(4) dkSVq afcd fgalkpkjkfo"k;h lkekftd

tkf.kotkx`rhr ok<

;ksX; mRrjkpk ladsr fuoMk %

(A) (1) o (2) cjkscj vkgsr

(B) (2), (3) o (4) cjkscj vkgsr

(C) (1), (2) o (3) cjkscj vkgsr

(D) (3) o (4) cjkscj vkgsr

63. yksdkUo;iºrh'kkL= gh laKk dks.kh ekaMyh \

(A) fiVj ctZj vkf.k ywdeu

(B) xkWQeu

(C) xkj•Qdsy

(D) glyZ
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64. Match List I with List II :

List I List II

(Concepts) (Thinkers)

(a) Agency and structure (i) Foucault

(b) Knowledge and Power (ii) Althusser

(c) Ideological State (iii) Derrida

Apparatus

(d) Deconstruction (iv) Giddens

Select the correct answer from the

codes given below :

Codes :

(a) (b) (c) (d)

(A) (i) (iii) (ii) (iv)

(B) (iv) (i) (iii) (ii)

(C) (iv) (i) (ii) (iii)

(D) (i) (ii) (iv) (iii)

65. Neo-Marxism is a reaction against :

(A) Excess of economic determinism

(B) Conflict

(C) State

(D) Authority

64. ;knh I vkf.k ;knh II P;k tksMÓk ykok %

;knh I ;knh II

(ladYiuk) (fopkjoar)

(a) ,tsUlh (lk/ku) vkf.k  (i) Qqdks

lajpuk

(b) Kku vkf.k lŸkk  (ii) vYF;qtj

(c) rRoiz.kkyh;qDr 'kklu;a=.kk  (iii) MsfjMk

(d) fojpuk (iv) fxMUl

[kkyhy fnysY;k ladsrke/kwu mfpr i;kZ;

fuoMk %

ladsr %

(a) (b) (c) (d)

(A) (i) (iii) (ii) (iv)

(B) (iv) (i) (iii) (ii)

(C) (iv) (i) (ii) (iii)

(D) (i) (ii) (iv) (iii)

65. uo&ekDlZokn gh dks.kR;k ckchph izfrfÿ;k

vkgs \

(A) vkfFkZd fu/kkZjdoknkps vkf/kD;

(B) la?k"kZ

(C) jkT;

(D) izkf/kdkj
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66. The theory of development which

suggests that societies more away

from traditional organisation is

called ...................

(A) Westernization theory

(B) Modernisation theory

(C) System theory

(D) Dependency theory

67. “Modernization is essentially based

on ‘a rationalist and positivist

spirit” . Who has made this

statement ?

(A) Eisenstadt

(B) Myron Weiner

(C) N.J. Smelser

(D) Daniel Lerner

68. Which of the following land  tenures

introduced during British period in

India refers to village-based land

ownership ?

(A) Zamindari system

(B) Mahalwari system

(C) Ryotwari system

(D) Customary system

66. ikjaifjd lektkiklwu lekt cnyr tkrks] vls

lqfpr dj.kkÚ;k fodklfo"k;d flºkUrkyk

dk; Eg.krkr \

(A) ikf'pekR;hdj.k flºkUr

(B) vk/kqfudhdj.k flºkUr

(C) O;oLFkk flºkUr

(D) voyafcRo flºkUr

67. vk/kqfudhdj.k gs izkeq[;kus ^O;ogkFkZ vkf.k

oLrqfu"B dYius* oj vk/kkfjr vlrs- gs

fo/kku dks.kh dsys vkgs \

(A) vkbZ>suLVWM

(B) ek;ju fouj

(C) ,u~-ts- Lesylj

(D) MWfu;y yuZj

68. [ksMÓkoj vk/kkfjr tfeu ekydhP;k lanHkkZr

Hkkjrkr fczVh'k dky[kaMkr [kkyhyiSdh dks.krh

tehu/kkj.kk izLrkfor dj.;kr vkyh \

(A) tfeunkjh iºrh

(B) egkyokjh iºrh

(C) j;rokjh iºrh

(D) izFkkxr iºrh
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69. Which of the following is not

associated with 73rd Constitutional

Amendment ?

(A) Periodic election in every

5 years

(B) Alleviation of rural poverty

(C) Constitution of Gram Sabha

(D) Reservation for women, SCs

and STs

70. Match List I with List II :

List I List II

(Villages) (Sociologists)

(a) Kisangarhi (i) F.G. Bailey

(b) Sripuram (ii) William H. Wiser

(c) Bisipara (iii) S.C. Dube

(d) Shamirpet (iv) McKim Marriot

(v) Andre Beteille

Select the correct answer from the

codes given below :

Codes :

(a) (b) (c) (d)

(A) (i) (iv) (ii) (v)

(B) (iv) (v) (i) (iii)

(C) (i) (iv) (iii) (ii)

(D) (iv) (v) (ii) (iii)

69. [kkyhyiSdh dks.krh ckc 73O;k ?kVuk nq#Lrh'kh

lacaf/kr ukgh \

(A) nj ikp o"kkZP;k dkyko/khus fuoM.kqdk

?ks.ks

(B) xzkeh.k nkfjÊÓ deh dj.ks

(C) xzke lHkk xfBr dj.ks

(D) vuqlwfpr tkrh] tekrh o fL=;kauk

vkj{k.k

70. [kkyhy ;knh I o ;knh II e/khy tksMÓk

ykok %

;knh I ;knh II

([ksMs) (lekt'kkL=K)

(a) fdlux<h (i) ,Q~-th- csys

(b) Jhiwje~ (ii) foY;e ,p~- okbt+j

(c) fclhikjk (iii) ,l~-lh- nqcs

(d) 'kehjisV (iv) eWfde eWfjvV

(v) vkUÊs csRrh

[kkyh fnysY;k ladsrkrwu mfpr mŸkj fuoMk %

ladsr %

(a) (b) (c) (d)

(A) (i) (iv) (ii) (v)

(B) (iv) (v) (i) (iii)

(C) (i) (iv) (iii) (ii)

(D) (iv) (v) (ii) (iii)
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71. The philosophy of phenomenology

focuses on :

(I) Consciousness

(II) What people think ?

(III) What people do ?

(IV) Social structure

Select the correct answer from the

codes given below :

Codes :

(A) (I) and (IV)

(B) (I) and (II)

(C) (I), (II) and (III)

(D) (I), (III) and (IV)

72. Which theory focuses on mutual

constitution of structure and

agency ?

(A) Structuralism

(B) Structuration

(C) Post-modernism

(D) Ethnomethodology

71. iz?kVuk'kkL=h; rRoKku dks.kR;k ckchaoj dsafÊr

vkgs \

(I) tk.kho

(II) yksd dk; fopkj djrkr \

(III)yksd dk; œrh djrkr \

(IV) lkekftd lajpuk

[kkyh fnysY;k ladsrkrwu ;ksX; mŸkj fuoMk %

ladsr %

(A) (I) vkf.k (IV)

(B) (I) vkf.k (II)

(C) (I), (II) vkf.k (III)

(D) (I), (III) vkf.k (IV)

72. dks.krk  flºkar  lajpuk  vkf.k  ,tsUlh

(lk/ku) ;kaP;k ikjLikjhd ?kM.khoj dasfÊr

vkgs \

(A) lajpukokn

(B) lajpuhdj.k

(C) mŸkj&vk/kqfudrkokn

(D) yksdkUo; iºrh'kkL=
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73. The concept of Lifeworld includes :

(I) Inter-subjectivity

(II) Typification

(III)Recipes

(IV) Stock of knowledge

Select the correct combination

according to the code given

below :

Codes :

(A) (I), (II) and (III)

(B) (II), (III) and (IV)

(C) (I) and (II)

(D) (III) and (IV)

74. Who said, ‘‘Neo-functionalism is a

tendency rather than a developed

theory’’ ?

(A) Derrida

(B) Foucault

(C) Alexander

(D) Habermas

75. The theory of public sphere by

Habermas refers to :

(A) Discussions among bourgeoisie

over public issues

(B) State

(C) Industrial areas

(D) Political parties

73. thotxrkr dks.kdks.kR;k ckchpk lekos'k
gksrks \

(I) vkarj&O;fDrfu"Brk

(II) izfrœrhdj.k

(III)r;kj dj.;kph iºr

(IV) Kkukps HkkaMkj

[kkyh  fnysY;k  ladsrkrwu  mfpr  mŸkj
fuoMk %

ladsr %

(A) (I), (II) vkf.k (III)

(B) (II), (III) vkf.k (IV)

(C) (I) vkf.k (II)

(D) (III) vkf.k (IV)

74. ^^uoizdk;Zokn gk fodlhr flºkar ulwu rh
,d izo`Ÿkh vkgs**] vls dks.kh EgVysy
vkgs \

(A) MsfjMk

(B) Qqdks

(C) vysD>kaMj

(D) gscjekl

75. gscjekl ;kapk lkoZtfud {ks=kpk flºkUr dk;
lwfpr djrks \

(A) lkoZtfud iz'ukaoj HkkaMoynkjkae/;s
gks.kkÚ;k ppkZ

(B) jkT;laLFkk

(C) vkS|ksfxd {ks=

(D) jktdh; i{k
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A B D

fo|kF;k±lkBh egŸokP;k lwpuk
1. ifj{kkFkh±uh vkiyk vklu ÿekad ;k i`"Bkojhy ojP;k dksiÚ;kr fygkok-

rlsp vki.kkal fnysY;k mŸkjif=dspk ÿekad R;k[kkyh fygkok-
2. lnj iz'uif=dsr 75 cgqi;kZ;h iz'u vkgsr- izR;sd iz'ukl nksu xq.k

vkgsr- ;k iz'uif=dsrhy loZ iz'u lksMfo.ks vfuok;Z vkgs- lnjps iz'u
gs ;k fo"k;kP;k laiw.kZ vH;klÿekoj vk/kkfjr vkgsr-

3. ijh{kk lq: >kY;koj fo|kF;kZyk iz'uif=dk fnyh tkbZy- lq#okrhP;k 5
feuhVkae/;s vki.k lnj iz'uif=dk m?kMwu [kkyhy ckch vko'; riklwu
igkO;kr-
(i) iz'uif=dk m?kM.;klkBh iz'uif=dsoj ykoysys lhy m?kMkos-

lhy ulysyh fdaok lhy m?kMysyh iz'uif=dk fLodk: u;s-
(ii) ifgY;k i`"Bkoj uewn dsY;kizek.ks iz'uif=dsph ,dw.k i`"Bs

rlsp iz'uif=dsrhy ,dw.k iz'ukaph la[;k iMrk w̌u igkoh-
i`"Bs deh vlysyh@deh iz'u vlysyh@iz'ukapk pwdhpk
ÿe vlysyh fdaok brj =qVh vlysyh lnks"k iz'uif=dk
lq#okrhP;k 5 fefuVkrp i;Zos{kdkyk ijr ns≈u nqljh
iz'uif=dk ekxowu ?;koh- R;kuarj iz'uif=dk cnywu
feˇ.kkj ukgh rlsp oš gh ok<owu feˇ.kkj ukgh ;kph œi;k
fo|kF;k±uh uksan ?;koh-

(iii) ojhyizek.ks loZ iMrkˇwu ifgY;kuarjp iz'uif=dsoj
vks-,e-vkj- mŸkjif=dspk uacj fygkok-

4. izR;sd iz'uklkBh (A), (B), (C) vkf.k (D) v'kh pkj fodYi mŸkjs fnyh
vkgsr- R;krhy ;ksX; mŸkjkpk jdkuk [kkyh n'kZfoY;kizek.ks Bˇdi.ks
dkˇk@fuˇk djkok-
mnk- % tj (C) gs ;ksX; mŸkj vlsy rj-

5. ;k iz'uif=dsrhy iz'ukaph mŸkjs vks-,e-vkj- mŸkjif=dsrp n'kZokohr-
brj fBdk.kh fyghysyh mŸkjs riklyh tk.kkj ukghr-

6. vkr fnysY;k lwpuk dkˇthiwoZd okpkO;kr-
7. iz'uif=dsP;k 'ksoVh tksMysY;k dksÚ;k ikukojp dPps dke djkos-
8. tj vki.k vks-,e-vkj- oj uewn dsysY;k fBdk.kk O;frjh‰ brj dksBsgh

uko] vklu ÿekad] Qksu uacj fdaok vkš [k iVsy v'kh dks.krhgh [kw.k
dsysyh vk< w̌u vkY;kl vFkok vlH; Hkk"kspk okij fdaok brj xSjekxk±pk
voyac dsY;kl fo|kF;kZyk ijh{ksl vik= Bjfo.;kr ;sbZy-

9. ijh{kk laiY;kuarj fo|kF;kZus ew̌  vks-,e-vkj- mŸkjif=dk i;Zos{kdkadMs
ijr dj.ks vko';d vkgs- rFkkih] iz'uif=dk o vks-,e-vkj- mŸkjif=dsph
f}rh; izr vkiY;kcjkscj us.;kl fo|kF;k±uk ijokuxh vkgs-

10. Q‰ fuˇÓk fdaok dkˇÓk ckWy isupkp okij djkok-
11. dWyD;qysVj fdaok ykWx Vscy okij.;kl ijokuxh ukgh-
12. pqdhP;k mŸkjklkBh xq.k dikr dsyh tk.kkj ukgh-

A B D
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